maining blank pages.

1. On completing your answers, compulsorily draw diagonal cross lines on the re

Important Note :

50, will be treated as malpractice.

42+8

2. Any revealing of identification, appeal to evaluator and /or equations written eg,
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a. State and explain Kirchhoff’s law } . : (06 Marks)
i mprising of 20Q2 and 48Q2. The
ircuit is 1000w and the applied voltage is 250V. Calculate R

and the current through R (06 Marks)

c. State and explain Faraday’s/laws of electromagnetre ' ion. (08 Marks)
OR

a. Obtain an express or energy stored in (06 Marks)

A coil conmstsy/oé?I"OOO turns and a currefit of 10A in the coil gives rise to a magnetic flux of
i) self inductance of the 01l ii) the energy stored iii) the emf induced when

(07 Marks)
c. with self inductances and the
(07 Marks)

a. (06 Marks)
b. i1l ﬂux/pole of 0.065wb. What
Orpm? At what speed if must

§ (06 Marks)

c. fruction and wonkmg of an induction types energy
(08 Marks)

a. (06 Marks)
b. A 4‘pole 220V lap ‘copnected DC s otor has 36 slots, each slot containing

éconductors It d;aw&a “Current of 40A fr@ the supply. The field resistance and armature

ped by the armature 1ii) shaft torque if the output power is 6 KW.

(08 Marks)
c. \m, explain the construction and working principle of
electrodyn mometer type wattmeter. - (06 Marks)
Module-3
a. Derive an expression for he power consumed in a series R-L— ac circuit and draw voltage,
current and pow aveform. (06 Marks)
b. With a neat sketch, €xplain 2-way control of lamps. (06 Marks)

c. A series circuits. éf" a resistance of 10€2, an inductance of 16mH and a capacitance of 150uF

connected in:series. A supply of 100V at 50Hz is given to the circuit. Find the impedance,
nd power consumed in the circuit. (08 Marks)
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OR

a.
(06 Marks)
b. (06 Marks)
<.
(08 Marks)
a. s and currents in a balanced

(06 Marks)
(08 Marks)

c. A 3-phase 50Hz, 16
10 conductors/slot.
i) the speed ii) the lin

a.

(08 Marks)

b. ower from 440V supply. The

KW. Calculate power, power

.(06 Marks)

C. (06 Marks)
a.

b. The primary w dmg ofa 25KVA
supply. The secondary turns are 5

urring in a single p4 Se transformer. (06 Marks)
ed at 100KVA..At full load its copper loss is 1200W and the iron loss is

960W. Calcula
i) The effigiency of full load, wp
i) The eﬁic:fency ofat half 1oad 0.8p.f
iii) The load KVA at w
iv) Maximum efficiency at:0.85 p.f. ‘ (08 Marks)
C. A 4 pole, 3-¢, SOHz friduction motor runs at a speed of 1470rpm. Find the synchronous
speed, the slip and frequency of the induced emf in the rotor under this condition.

(06 Marks)

d* ok ok K X
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